H £ 0l & AF & S

Al A

SA: OFS=XIDt
33 Ots=A &84
el 25 K& EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ots=X1 211,615,065 211,252,484 362,581
= 111,646,650
[ 6,282,519
Jl 415,414
< 47,459,170
Al 45,811,312
Ors=X 58 209,966,248 209,562,008 404,240
= 111,646,650
s 5,39%,464
Il 415,414
= 47,190,587
Al 45,318,133
25 X& 132,662,935 131,817,865 845,070
= 73,899,828
S 36,106,957
Al 22,656,150
222 J& 61,772,199 53,225,513 8,546,686
= 46,563,705
[ 6,208,494
Al 9,000,000
301 LEIEE S 61,772,199 53,225,513 8,546,686
= 46,563,705
s 6,208,494
Al 9,000,000
01 Al E2E AL S(FRNEXM) 61,772,199 53,225,513 8,546,686
ogxRot2=E= XA 61,772,199
= 46,563,705
= 6,208,494
Al 9,000,000
3MI~OAI el e BES&8 21,880,188 21,880,188 0
[ 21,880, 188
301 LEtE N = 21,880, 188 21,880,188 0
S 21,880,188
02 MBI 2EHSFHS(HAANS, XLHE) 21,880, 188 21,880,188 0
O3MI~5Ml 2l tE B82 21,880, 188
= 21,880,188
FRRE ANREEZ XN 2,176,512 2,255,040 A\T8,528
< 676,512
Al 1,500,000
301 EtE NS 2,176,512 2,255,040 AT8,528
= 676,512
Al 1,500,000
02 ARSI 2 X LGS (FHAAHS, XNLWE) 2,176,512 2,255,040 N\T8,528
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X XH -
o e

=aak

Ofl &F2H

H
ol &y

hoH

=

306,096
306,096
153,048
76,524
76,524

272,744

2220 (Hot+E) XA

SR

=

34,032,384
25,524,288
4,254,048
4,254,048

43,218,868

A9, 186,484

Mo

=

34,032,384
25,524,288
4,254,048
4,254,048

43,218,868

A9, 186,484

Mho

34,032,384
34,032,384
25,524,288
4,254,048
4,254,048

43,218,868

A9,186,484

Jo
A0
02

650,400

631,000

19,400

A
[}
OF
ro| o
]
o
x
o
40

w
(@]
[N
(@]

[Pl

650,400

631,000

19,400

o|
e
y
R =)
Jo
oy

(e

©
k)
=}
O
o
paa}
o
x
il
40
I

650,400
650,400

631,000

19,400

H0
— | 08

30
[=)
O
i
>
10
=
o
H0
08
Pl
o
=
114

in

Al

25,000
12,500
12,500

25,000

307 212t01™

H

Al

25,000
12,500
12,500

25,000

in

25,000
25,000
12,500
12,500

25,000

Mo

=

220,000
110,000
55,000
55,000

232,500

A12,500

401 Al HIZ R 0HHI

Mo

200,000
100,000
50,000
50,000

212,500

A12,500

01 AlZHI

oolglold &=

W

200,000
200,000
100,000

212,500

A 12,500




SA: OFS=XIDt
33 Ots=A &84
g9l =25 A EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 50,000
Al 50,000
405 AtatE = 20,000 20,000 0
= 10,000
< 5,000
Al 5,000
01 AL =S F = 20,000 20,000 0
ooeloly &= 20,000
= 10,000
== 5,000
Al 5,000
HEl0ld JIsEL(E S0l 51,000 0 51,000
= 51,000
402 2I2F X201 & 51,000 0 51,000
== 51,000
02 QI A2 AL E R (0IHTHE) 51,000 0 51,000
OO0l Vs 51,000
= 51,000
SN HMHSAX(HHRA XIH) 1,168,183 1,233,705 AB5,522
= 726,137
< 242,046
Al 200,000
307 lztol & 1,168,183 1,233,705 N\B5,522
= 726,137
=S 242,046
Al 200,000
11 ARRIS XA E X 1,168,183 1,233,705 N65,522
O=EFuWAE HHAL XI& 1,168,183
= 726,137
= 242,046
Al 200,000
ERuUAE SEE XN 1,372,800 1,372,800 0
301 22N = 1,372,800 1,372,800
02 ARSI 2E AT S(FIANS, XLETHE) 1,372,800 1,372,800
OoEsuAE SExg X2 1,372,800
Oelold EsuXd AASH2 Ity X3 42,550 47,150 24,600
307 glztol & 42,550 47,150 24,600
6 28 42,550 47,150 24,600
OO0l ESWAA HMESHIR It Xl
2 42,550
Oielold Oi2l0] St S M=l ot A& 78,392 89,600 ~11,208
307 @120l & 78,392 89,600 11,208
06 28= 78,392 89,600 A11,208
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2A:
PSER
o e

el

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

Mo

=

712,480
91,605
213,745

Mo

=

1,017,830
712,480
91,605
213,745

1,200,000

A182,170

hoH

=

1,017,830
1,017,830
712,480
91,605
213,745

1,200,000

A182,170

o

=

31,559,631
25,375,706
3,091,963
3,001,962

37,338,040

Nb,778,409

hoH

=

31,559,631
25,375,706
3,091,963
3,001,962

37,338,040

ADb,778,409

Mo

=

31,559,631
31,559,631
25,375,706
3,001,963
3,091,962

37,338,040

Ab,778,409

Mo

=

5,156,269
3,859,984
496,285
800,000

3,654,072

1,502,197

Mo

=

5,156,269
3,859,984
496,285
800,000

3,654,072

1,502,197

Mo

5,156,269
5,156,269
3,859,084
496,285
800,000

3,654,072

1,502,197

OrSSXEE K&

10,000

9,000

1,000

201 fet=3|

i

10,000

9,000

1,000

01 AFS2t2ltl

oots=X&E® X2

10,000
10,000

9,000

1,000

oL 0|23 X

AN o [uind

6,740,000

5,989,000

751,000
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SA: OFS=XIDt
33 Ots=A &4
s Ots=A A3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,800
11 #AIAHIXIE S 1,000 1,000 0
O0tsES MZR¥ XA (AtHI) 1,000
[ 800
= 100
Al 100
FHAAE OlsSEAEIA X2 328,580 369,500 240,920
[ 262,864
= 32,858
Al 32,858
201 er=23y| 30,500 29,400 1,100
[ 24,400
= 3,050
Al 3,050
01 At2teltl 12,000 10,400 1,600
OLEEAEENE 2 12,000
= 9,600
< 1,200
Al 1,200
2 s5=34l 18,500 19,000 A500
OLEAEENE 2 18,500
= 14,800
< 1,850
Al 1,850
202 04l 4,000 2,600 1,400
= 3,200
< 400
Al 400
01 SLHoIH 4,000 2,600 1,400
OLEAEIEME 2 4,000
= 3,200
S 400
Al 400
301 EtE NS 286,580 330,000 N43,420
= 229,264
== 28,658
Al 28,658
01 ARSI 2E AL S(SREXMH) 39,710 38,430 1,280
OEHAEIEME 29 39,710
= 31,768
=S 3,97
Al 3,97
11 dALEEIXIE S 16,520 17,570 21,080




2A:

X XH -
o=

ctel: Ols=X X3 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OEEAEENE 2 16,520
= 13,216
== 1,652
Al 1,652
14 IIEt2 8= 230,350 274,000 A\43,650
OLEAEIEME 22 230,350
= 184,280
< 23,035
Al 23,035
307 lztol & 7,500 7,500 0
= 6,000
== 750
Al 750
0122 & 3=l 7,500 7,500 0
OEHAEIEME 29 7,500
= 6,000
=S 750
Al 750
CHARE 2HHE JHt2EAS 23 2,400 5,400 /3,000
201 =3 2,400 5,400 A3,000
01 At22telt] 2,400 5,400 23,000
OEZAEIE 2tdlY FH2EM2 29 2,400
CEHAERE MY SXE 20,130 20,130 0
201 Ler23 | 20,130 20,130
01 At2teltl 20,130 20,130
OLEAEE HaldH itz 20,130
ARISXIAF SRt X2 118,845 112,200 6,645
307 @120l & 118,845 112,200 6,645
11 AMISXAIEEX 118,845 112,200 6,645
OAISXIAF SX2tE X1 118,845
Ols=XIAIE XI# 28,109,153 24,186,865 3,922,288
= 1,676,196
[ 5,096,600
Il 28,140
== 6,442,585
Al 14,865,632
OlS=XAE 28X 5,361,949 4,097,904 1,264,045
== 804,292
Al 4,557,657
307 elztol & 5,361,949 4,097,904 1,264,045
= 804,292
Al 4,557,657




2A:
PSR
ool

Ots=X11t
o= 58

Ot==XIAIE XA

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
10 AlRISXIAIEEE 22X 5,361,949 4,097,904 1,264,045
OOts=AAE 2EXH 5,361,949
= 804,292
Al 4,557,657
SEXANE SAA SE€+E 308,520 303,120 5,400
s 90,072
Al 218,448
301 EtE NS 308,520 303,120 5,400
< 90,072
Al 218,448
02 MBI 2HHSFHS(HAANS, KLHE) 308,520 303,120 5,400
OOtSEXIAE SAHLY SE+2 308,520
S 90,072
Al 218,448
OISSXAE 250t XN 27,000 39,155 N12,155
301 EtE N = 27,000 39,155 A12,185
02 MR 2HALFS(HAAS, XNLHE) 27,000 39,155 A12,155
O0tES=XNAIE 230t 2HAlHI 18,000
OOtsSEXAE 250ts =s0~H(S, 1) 9,000
Ols=XAIE JIsE2 56,280 19,000 37,280
Jl 28,140
=S 19,698
Al 8,442
402 2I2F X201 & 56,280 19,000 37,280
Jl 28,140
= 19,698
Al 8,442
02 QI XHZ AL E R (01X THE) 56,280 19,000 37,280
OO0IsS=AAE JIsEd 56,280
Il 28,140
= 19,698
Al 8,442
MAS0 (OLSEXIAIE) 570,000 570,000 0
= 513,000
= 39,900
Al 17,100
307 elztol & 570,000 570,000 0
= 513,000
< 39,900
Al 17,100
11 AMEISXAEEES 570,000 570,000 0
OMAZSH(OtS=EXIAIA) 570,000
= 513,000




2A:
X XH -
o e

=aak

Ots=X11t
o= 58
Ors=EXAIE X

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2

= 39,900
Al 17,100

AN&Oots XA 183,303 158,528 24,775
& 54,991
Al 128,312

307 212+01™ 183,303 158,528 24,775
T 54,991
Al 128,312

11 AMSIESXAEEX 183,303 158,528 24,775
OA&0ls XI& 183,303
= 54,991
Al 128,312

2SUA0s 15 29 2,735,704 1,693,686 1,042,018
= 1,042,841
T 781,631
Al 911,232

307 QIZ2t01 A 2,735,704 1,693,686 1,042,018
= 1,042,841
T 781,631
Al 911,232

10 Al = XA EHE2FHIE X 2,735,704 1,693,686 1,042,018
2SHM0S O 22 2,735,704
= 1,042,841
& 781,631
Al 911,232

SiiiOlolots &H 29 268,500 258,694 9,806
= 103,800
& 77,850
Al 86,850

307 212+01™ 268,500 258,694 9,806
= 103,800
& 77,850
Al 86,850

10 Al =S XA EBEE2IHIE X 268,500 258,694 9,806
ostiiiloiols &H 24 268,500
= 103,800
= 77,850
Al 86,850

Ots=XAlE ZAHEXNSOtS AHE XA 23,650 21,900 1,750
= 16,555
= 3,547
Al 3,548

307 2I2+01A 23,650 21,900 1,750




SA: OFS=XIDt
33 Ots=A &
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 16,555
=S 3,547
Al 3,548
11 AMISXAIEEX 23,650 21,900 1,750
OOtS=XAIE ZAHE Xs0ts AR 23,650
= 16,555
= 3,547
Al 3,548
SSHEINF(OEE) AL BESE 31,200 28,800 2,400
== 9,360
Al 21,840
307 212+01& 31,200 28,800 2,400
< 9,360
Al 21,840
10 Al SXAEEHE 22X 31,200 28,800 2,400
O3SHEIINE(OEES) SAN HEE 31,200
= 9,360
Al 21,840
SSHEEINE(OAES) SAHL oRI224E 43,200 39,600 3,600
=S 12,960
Al 30,240
307 21201 & 43,200 39,600 3,600
< 12,960
Al 30,240
1 ABI= XA 2 E 43,200 39,600 3,600
OTSHEIIF(DSE) BAK 0RI2L4
g 43,200
= 12,960
Al 30,240
SSHEEINE(OAES) SAHL 28] =IHAI& 246,897 203,965 42,932
=S 74,069
Al 172,828
307 @I2t01 & 246,897 203,965 42,932
== 74,069
Al 172,828
10 Al2ISTIAIEEE2HIEX 246,897 203,965 42,932
OZSHEINF(OEE) SALL IAHl =t
A& 246,897
= 74,069
Al 172,828
OlsZAIESAd 2SR 621,942 597,756 24,186
= 310,971
Al 310,971




2A:

E M

Ots=X11t
o= 58

l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 621,942 597,756 24,186
= 310,971
Al 310,971
10 Al SXAAEEHE2EHI2x 621,942 597,756 24,186
OOtSZAIESANE 2EXE 621,942
= 310,971
Al 310,971
CHiNEsdE £Xdl X 70,000 70,000 0
[ 50,000
= 10,000
Al 10,000
402 2IZtA=01A 70,000 70,000 0
[ 50,000
= 10,000
Al 10,000
02 QI THEAIEEE(0IETHE) 70,000 70,000 0
ottshss4dH &4l X3 70,000
= 50,000
& 10,000
Al 10,000
CIetNssdl Al X2 1,599,568 1,549,140 50,428
= 750,840
< 375,420
Al 473,308
307 glztol & 1,599,568 1,549,140 50,428
= 750,840
== 375,420
Al 473,308
10 Al2ISTIAIEEE 22X 1,599,568 1,549,140 50,428
otgMEsdE bl X 1,599,568
= 750,840
=S 375,420
Al 473,308
CENsEsdE 234 X 312,000 348,200 A36,200
= 120,000
=S 60,000
Al 132,000
307 21201 & 312,000 348,200 A\36,200
[ 120,000
= 60,000
Al 132,000
10 Al SXAAEEHE 22X 312,000 348,200 A36,200
otgN=ssdH 234l A& 312,000




SA: OFS=XIDt
33 Ots=A &
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 120,000
=S 60,000
Al 132,000
Ciet=sSdE 2SAIZE HE X 24,228 23,640 588
= 12,114
= 6,057
Al 6,057
307 @12t0| & 24,228 23,640 588
[ 12,114
= 6,057
Al 6,057
10 Al SXAEEHE 22X 24,228 23,640 588
Oltah=s4dH 2SAI2 A2 K& 24,228
[ 12,114
= 6,057
Al 6,057
CEIi=s4dE SAHL SE+E 61,440 61,440 0
= 1,712
Al 49,728
301 Eet2 NS 61,440 61,440 0
== 1,712
Al 49,728
02 ARI2HHHS(FHAAS, NLHE) 61,440 61,440 0
OUISHNESSHEH SAHL S8 61,440
< 1,712
Al 49,728
CrENESSHE SAHAE &8¢ 17,600 17,200 400
= 3,360
Al 14,240
307 gl2to| & 17,600 17,200 400
=S 3,360
Al 14,240
10 Al SXAEEE 22X 17,600 17,200 400
OUigN=s4dEH A E&8+8 17,600
< 3,360
Al 14,240
CEIHES4E JISE22(S S0i0a) 31,000 20,000 11,000
= 31,000
402 2I2FXH=201H 31,000 20,000 11,000
< 31,000
02 QI X2 AL E R (0IETHE) 31,000 20,000 11,000
otUgNEsdH JIs2Z 31,000
= 31,000




K
x‘|il—|:
Ct2|:

Ots=X11t
o= 58

Ot==XIAIE XA

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

2,000

2,000

©
w
o
=
i
i
x I
o
<
o
=)
o
=
oD

2,000
2,000

H

Al

205,920
61,776
144,144

205,920

307 212+01&

in

Al

205,920
61,776
144,144

205,920

H

205,920
205,920

61,776
144,144

205,920

SRR

=

—

,162,672
576,336
288,168
288,168

1,133,544

19,128

307 212t01™

Mo

=

—

,152,672
576,336
288,168
288,168

1,133,544

19,128

11 MEISXIAEEE
OXY0otsHEH 228l X

SAREY

=

—

,152,672
,162,672
576,336
288,168
288,168

—

1,133,544

19,128

Mo

=

7,192,020
3,534,510
1,767,255
1,890,255

6,192,324

999,6%

307 212+01&

SRR

=

7,192,020
3,534,510
1,767,255
1,890,255

6,192,324

999,6%

1 A S XAIE &
OXNH0otsHIE Q14| X

SRR

=

7,192,020
7,192,020
3,534,510
1,767,255
1,890,255

6,192,324

999,6%

Jm
0x
g
paa|
12
=]
0
z

B =Jt XN&

SRR

159,500
52,800
26,400

223,100

63,600




SA: OFS=XIDt
33 Ots=A &
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 80,300
307 gl2tol & 169,500 223,100 63,600
[ 52,800
= 26,400
Al 80,300
11 AMEISXAIEEXS 159,500 223,100 63,600
OSdE8 NF0tsdH =0t A& 169,500
= 52,800
& 26,400
Al 80,300
NSotsSHE 23 =0t N2 41,400 41,400 0
= 12,420
Al 28,980
307 gl2tol & 41,400 41,400 0
=S 12,420
Al 28,980
11 ARRIS XA E X 41,400 41,400 0
OXISotSHE 28H =t K& 41,400
[ 12,420
Al 28,980
KOS HE SAEL =& 413,920 342,000 71,920
= 82,784
Al 331,136
301 EtE N = 413,920 342,000 71,920
= 82,784
Al 331,136
02 A 2E A S(FANE, XLETHE) 413,920 342,000 71,920
OXISOtSHEH SAHA = 413,920
== 82,784
Al 331,136
K 0tSHE AL SX=2 365,400 365,400 0
307 glztol & 365,400 365,400
10 Al2IS XA EEE 22X 365,400 365,400
OXISOtSHE SAHA SX+=& 365,400
KSOotsHIE! SAHAL 2148 F=IHXIJ 453,200 306,180 147,020
= 135,960
Al 317,240
307 @20l & 453,200 306,180 147,020
=S 135,960
Al 317,240
10 Al SXAEEE 22X 453,200 306,180 147,020
OXZOotSHIEH SALA 2124H| FIHXIRA 453,200
[ 135,960




2A:
X XH -
o e

=aak

Ots=X11t
o= 58
Ors=EXAIE X

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 317,240
NS 0tSHE S4H XA 4,759,200 4,640,000 119,200
== 1,012,500
Al 3,746,700
307 212+01& 4,759,200 4,640,000 119,200
< 1,012,500
Al 3,746,700
11 AMEISXAEEES 4,759,200 4,640,000 119,200
OXSotsHE gtz 44 X 4,050,000
= 1,012,500
Al 3,037,500
OXIotsHE EQ2Y SAH X 259,200
OXIS0otSHE gtz 2tAH XIS 450,000
NSE0otsdE Z2 08| FIOHXIR 641,440 639,739 1,701
= 192,432
Al 449,008
307 elztol & 641,440 639,739 1,701
= 192,432
Al 449,008
1 AMEISXAIEES 641,440 639,739 1,701
OXS0tsHE =28 FIHRI& 641,440
= 192,432
Al 449,008
NSE0tSHE & - el X3 13,800 13,800
307 212+01& 13,800 13,800
10 Al2ISTIAIEEE 22X 13,800 13,800
OXIS0otSHE & - d X2 13,800
NE0otsdE wWiHwHl X 20,700 20,700 0
307 elztol & 20,700 20,700
10 Al SXAAIEEHE 22X 20,700 20,700
OXEOotSHE wHuw-Hl XI& 20,700
KSotsHE SAUE 8,000 8,000 0
307 @20l & 8,000 8,000
1 AMISXAIEEXE 8,000 8,000
OXS0tsHE SAUS 8,000
XSotsHE JIsE2(E SHHAH) 86,000 48,950 37,050
[ 86,000
402 2IZtA=01d 86,000 48,950 37,050
= 86,000
02 QI X2 AL EE(OIHTHE) 86,000 48,950 37,050
OXOIXS0ISHEH JIs22 25,000
= 25,000




2A:

X XH -
o=

Ots=X11t
o= 58

l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJ|ERCXNSOISHE JIsEd 6,000
= 6,000
OHIHE XIS 0ISHH JIsE2d 6,500
& 6,500
OMEXISotSHE JIs2d 5,000
< 5,000
OZUXISOISHE JIs2Ed 8,500
=S 8,500
OULIE=XE 0 SHH JIsEd 10,000
= 10,000
O &= S 0ISHH JIsE2d 15,000
= 15,000
OHEXSotSHE JIs2d 10,000
& 10,000
orsEs X 1,905,990 2,449,283 AB43,293
= 855,656
= 310,947
Al 739,387
H=FA OlSESEEI2 23 1,465,964 1,405,604 60,360
= 732,982
= 219,8%4
Al 513,088
307 elztol & 1,465,964 1,405,604 60,360
= 732,982
< 219,894
Al 513,088
10 Al SXAIEEHE2EHI2x 1,374,124 1,313,764 60,360
ONFAl OlsEsdEI |2 23| 1,374,124
= 687,062
< 206,118
Al 480,944
11 AMEISXAEEES 91,840 91,840 0
OXFAl OlSESHEEIZ AtHI 91,840
= 45,920
< 13,776
Al 32,144
OlSEadEII2 AL =2 180,838 177,981 2,857
= 54,251
Al 126,587
301 EtE N = 45,720 45,720 0
= 13,716
Al 32,004
02 AR 2HHLFS(HAAS, XNLHE) 45,720 45,720 0




SA: OFS=XIDt
33: Ots=A &4
el Ol s2EE XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOISESHEI |2 SAHA SE5¢ 45,720
= 13,716
Al 32,004
307 gl2to| & 135,118 132,261 2,857
=S 40,535
Al 94,583
10 Al SXAEEE 22X 135,118 132,261 2,857
OOSESHZI|2 SALA =& 135,118
< 40,535
Al 94,583
Orssily ol & Hloiots 25 13,840 17,900 24,060
201 er23| 10,340 12,900 22,560
01 At2teltl 7,400 10,620 A3,220
ootsslh Hg 82 & 29 7,400
02 S3=gHl 2,940 2,280 660
OoIsstt AR |UHE 0188 2,940
301 LEtE NS 3,500 5,000 1,500
02 ANRI2HHSHS(HAAS, NLHE) 3,500 5,000 21,500
O=t0illol Ots - Ot & XISHl S HEX 3,500
LFEEIIFI=ZEZ 0 A K& 245,348 245,348 0
= 122,674
== 36,802
Al 85,872
307 212+01& 245,348 245,348 0
= 122,674
= 36,802
Al 85,872
1 AMISXAIEEXS 245,348 245,348 0
Og=2EIId=ST2 08 M X2 245,348
= 122,674
= 36,802
Al 85,872
HY2HHHI(OtS=R) 1,648,817 1,690,476 A\41,659
s 887,055
s 268,583
Al 493,179
A2 LHI(OtS=XID) 1,583,199 1,624,745 A41,546
[ 887,055
= 268,583
Al 427,561
Ots= X WAL IHA 870,476 889,108 18,632
[ 420,538
= 210,269




SN OFS=XI Dt
. HY2IHH|(0tS=X1)
ool oI (0tSSXI) (S ® )
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 239,669
101 2124 732,200 733,956 A6,756
= 357,700
& 178,850
Al 195,650
03 SR (RIHL) 22X 732,200 738,956 A6, 756
OO0ts=X WA TtA 732,200
s 357,700
= 178,850
Al 195,650
201 B2 AY| 12,600 12,600
M AEE=XNEAlIHEYI 12,600 12,600
OO0ts=X WA TtA 12,600
M HAFRE3S 125,676 137,552 A11,876
= 62,838
& 31,419
Al 31,419
M SRHE(PINHS) 22X B828€=2 S 125,676 137,552 A11,876
OO0ts=X WAt OHA 125,676
= 62,838
& 31,419
Al 31,419
FUHE OlSSEAHIA XA (124H]) 274,176 266,208 7,968
s 219,341
T 27,417
Al 27,418
101 2124 d| 232,176 224,000 8,176
= 185,741
= 23,217
Al 23,218
03 BRA(RIAHL) 22X B4 232,176 224,000 8,176
OFLHE OlsSEALIA X (e124]) 232,176
iy 185,741
& 23,217
Al 23,218
34 HAZ2RE3S 42,000 42,208 A208
iy 33,600
T 4,200
Al 4,200
M R (RIAHA) 22X BEa284=3 S 42,000 42,208 A208
OFAHE OIsSSEAMUIA X2 (e124H]) 42,000
ax 33,600
& 4,200




SN OFS=XI Dt
M HYRAZHI(0tS=X1L)
CHel: QI 2HH|(0ISSXID) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 4,200
OlsEs Mge@ XA(eldl) 438,547 469,429 A30,882
[ 247,176
= 30,897
Al 160,474
101 @1A4H| 427,027 457,909 /30,882
[ 247,176
= 30,897
Al 148,954
01 &2 15,067 15,067 0
O0tsEs MYR¥ XA (2H]) 15,067
02 JIEtAE = 411,960 442,842 A30,882
Oots2Es MERP R (Q2H]) 411,960
[ 247,176
= 30,897
Al 133,887
202 04| 11,520 11,520
01 2L A b 11,520 11,520
OltsEs MER¥ XIA(AH]) 11,520
[=2ZHI(0tS= X2 65,618 65,731 A113
JI2ZHI(0ts= X1 65,618 65,731 A113
201 =3 38,035 40,79% A2,760
01 At22telt] 36,435 38,79% A2,360
Ogt=3H| 18,792
C=E 16,443
o=2g=g 1,200
02 324l 1,600 2,000 A400
ossitE 7l 1,600
202 04| 23,803 20,736 3,067
01 =LHO LI 23,803 20,736 3,067
OJ|=gR=A0H| 23,803
203 HR=H| 3,780 4,200 A420
M SR 3,780 4,200 A420
ORNEgE =AY
315,000 x 122 3,780




